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AT & oW 3r1er / Instructions to the Candidates

1.mawmm$wﬁmlmmaﬁwmmﬂrﬁiﬁﬂq\m
faaT SITAT /The question paper is in the form of test booklet. All candidates will
be assessed on identical questions.

2. 3eeX fora@er & welt areafial & wreer Y iy & W I F UE HTANRT I
Rt 3Teey HU§ SMEN| FederE Fdw A IR F ATIR fe W oI
o srsrdf &t Wia & / A separate OMR answer sheet with carbon ‘impression is

provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.



(£~

10.

W AR WA UF Ueq aUT / Iydr wEAr & Wiy wr sweam, st ARy 3w

RFeT (), (@), (M), T9T (F) a0 & 3 § wH & Ieax WE g9 / Each
objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. MTAAR e o BE 7w el # eae & 9d) 39 seert A Refd w@ au

f@a 8q Faer e Iryar F@ ST 9B FAA F @ VAT F / Read the
instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

.ﬁ%ﬂaqﬁwm%mﬁ#aﬁmaammmﬁm

2

Tdad Icadll & AT FE TARRICHAS 3% 7¢1 & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
wrong answers.

. U g 3 Ry sea & W 3@ I SeeR € A Sen|

Multiple answers for a question will be regarded as a wrong answer.

. TEIAE AN W W FE g IRawr # R v Rew wuw w1 395 w7 s §

e & H5 sy ofic 3geer sl U STwar / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

.aTmam%ﬁvagaammmﬁmwmﬁmaﬂmaﬁl

Y 3T T2 & T Fhd & dUT 9 H HiedT W2 g &¢ / Do not waste time

on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

Lo F wuw ue & e anafdEl # wdam efw o i oaewla adt §

Candidates are not permitted to leave the examination hall during the first hour
of the examination. '

qﬁm#maﬁwu)mﬁw?ﬁmm*ﬁamwm
HTAAR el IR Jredrers Ht A & aar Bl off grona & sreadff oo amew
T o ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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1. & 5,103 15 W & HA¥eH FAWR & afE g3 € A v eniar F@r grefr / 1f3

capacitors of 5, 10 & 15 Farad capacitance are connected in parallel, what is the resultant capaci'tance
(a) 60F (b) 2.5F (c) 7.5F (d) 30F

2. XLPE T & / What is XLPE
(a) TFERH a3 U Sd¢/ Excess Load per Event
(b) F1T Tolag DfATATIA/ Cross Linked Polyethylene
(c) TFEST A8 Yiay BT 3797/ Extra Load Power for Earth
(d) sHETsiere qiferefATesT / Xylene poly Ethylene

3. MCCB T & / Whatis MCCB
(a) HAI 31_{?: gfehe s / Motor Current Circuit Breaker
(b) AfEHT ST Tfehe ST / Minimum Current Circuit Breaker
(‘c) Fle2g & Tlhe sT / Moulded Case Circuit breaker
(d) AfFTad HT e §T / Maximum Current Circuit Breaker

4. FHAET o UfAE Yo & ufd Ao & diccst FAT B/ Standard voltage/cell of a Lead Acid
Battery is
(a) 12V (b) 6V (c) 2V (d) 24V

5. SPV T FAT & / Whatis SPV cell
(a) TULqS qqy dlecal Hof / Special Purpose Voltage Cell
(b) EJLTST IeT aleed el / Special Photo Voltaic Cell
(c) eI [y dlecst ¥el / Sun Power Voltage Cell
(d) Hrem Bl diecer Tl / Solar Photo Voltaic Cell

6. e 1 a5 o= ﬁ'c.'\}g?[ ¢RT T HGer T 3UHLUT FAT §  / Instrument used to measure
current without breaking the circuit

(a) deA=ATHIET / Galvanometer (b) AYEFAAHIET / Potentiometer
(c) FIFT HIeX / Clamp meter (d) 9FASTeT TFATET / Precision Ammeter

v ﬁﬂﬁqmﬁwmﬁgmm$%@mﬁmwmﬁmm%/

Which component is used to improve the the power factor of an induccive load

(a) WTCIRTee / Resistors (b) 33X / Inductor
(c) |emRT / Capacitor (d) FaTRT 3R g8%FeX / Capacitor and Inductor
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8.

10.

11.

i3,

13.

14.

15.

16.

17.

NUTFed grEax &) [FEW ATAT ST § / Reactive power is denoted by
(@) KW (b) KVA (c) KWh (d) KVAR
faege e Joa & v affe & fraer 39T a1 STar § / What is used in a circuit to
prevent electric shock
(a) TA.ELET. /| MCB (b) TH.HT.EET. / MCCB
(c) 3% ¥ / Earth Tester (d) 3T dr &, / RCCB
faag-cr Fal T N{ﬁ'{f FFOd SET & / 1 Unit of electric energy is equal to
(a) 1KVA (b) 1 RKVA (c) 1 KW (d) 1 KWh
56 KQF ToIT T s FAT § / The colour code for 56 KQ is
(a) e, SarelY, A/ Yellow, Violet, Orange (b) 8T, STET, &Tel / Brown, Black, Red
(c) &1, #ATelT, AR / Green, Blue, Orange (d) AL, SiTer, X7 / Orange, Blue, Green
Afarel =alE & - &7 alecsl 31T oareTaT fohcell & / The forward voltage drop of Silicon
diode is around
(a) +0.7V (b) +0.3V (c) -5.0V (d) +1.0V
uF RC URUY H, TR c=1pF, 3R R=1kQ ¥, d@F THT FERIF &A1 & / In an RC circuit, if C=1puF
and R=1KQ, what is the value of time constant
(a) 1ns (b) 1ps (c)ims (d) 1ps
gaaﬁraa%aﬁa:ﬂaréﬁmﬁqﬁaéﬁ AeheT ATl YUY dcd T8 § / The circuit element which
resists change in current through it by the action of magnetic field is
(a) WfcRIE&+ / Resistor (b) $UTHET / Capacitor
(c) 38a<¢T / Inductor (d) eifaiEeX / Transistor
TF 1000 GTERIUE ST 3T fHTe & T 20V H THAT e AT, Rkl &THT T Bl
IfET / For a 100Q resistor to withstand 20V across its terminals, what should be its power rating
(a) W (b) 2 W (1w (d)yaw
BITH Tad ®leT &7 Fasre /  The smallest region ina BJT is
(a) #eT / Base (b) §aIgesh / Collector (c)m / Emitter (d) FT / Source
552 — 452 &7 HIeT AT § / What is the value of 55” - 45

(a) 450 (b) 550 (c) 900 (d) 1000
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18. ey A #MT A erar if¥sds 8dr & ST / In a DC machine, the efficiency is maximum
when the

(a) R &1fd < A& &1fd / Constant losses < variable losses
(b) T2 &1fd = 3P &1fd / Constant losses = Variable losses -
(c) FEUT &fa > 31X &fd / Constant losses > Variable losses
(d) 31 & &S 76T / None of the above

19. UH TAHL H@ell oAl Hihe A, 3efele 3Mgicd 9 4T gl & / In a LC series resonant

circuit, at resonance frequency

(a) 3eaacia RAdera > HUAET RAFeH / Inductive reactance > Capacitive reactance

(b)sesaéla RAgera < FATAET RAFc=d / Inductive reactance < Capacitive reactance
(c) Sesaed RAFed = HUACT RAFe=a / Inductive reactance = Capacitive reactance
(d)3eT37 & 15 &I / None of the above

20. ToRdT el & Soqelerd o Reldla daifiefadr 4 8| 3PN gegeRe & Rerda yaffefadr #r
deorpt 2 Y fear o, ar Fed & Fif¥csg 9 FAT FAY USIM /A certain cable has an

insulation of relative permittivity 4. If the insulation is replaced by another insulation of relative
permittivity 2, the capacitance of the cable will become

(a) 3TTEIT / half (b) GI[AT / double (c) R I/ four times (d) T TterS / one-fourth

21, Ydigehced silﬂé & T gcfies &1 & / Symbol for unit of Conductance is -
(a)© (b) C (c)Q (d) F

22. efar $r SIS FAT § / What is the unit of Capacitance
(a) 31EH / Ohm (b) s / Farad (c) &= / Henry (d) TPTIT /| Ampere

23. AAROT AT HT ATeafAS AT g g & § / Secondary winding of a distribution

Transformer is connected as

(a) Seer / Delta (b) &R / Star
(c) TER-3eeT / Star-Delta (d)s?lﬁ' q a‘ﬁé #el / None

24. FHEFET Pl aor FAT & / Property of conductor
(a) [T & AT UTAUT / Offers near Zero resistance
(b) FETH YA / Offers medium resistance
(c) 3= UfARIET / Offers high resistance
(d)qc:ff TE T Yag &l UshdT & / Completely blocks current
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25. 9faer & fow A & & / Formula for Resistance is
(a) L/pA (b) pL/A (c) LA/p (d) LAp

26. Ife it wferIer 4, 6, 12 Q WA # ¢ §C &, A 37T o GTARIY FAT &Yl / Three
resistances 4, 6, 12 () are connected in parallel. Their equivalent resistance is
(a)10Q (b)20Q ()30 (d)4Q

27. & ed 75W / 230V 3R 125W / 230V FARIR & o8 & 3R A€ ga¥ deaex 0.8 ¥
A I AR 8 6 Ui R’ veh #ET o Twsha &, a1 Redalr ot & @F @9 / Two

lights 75W/230V and 125W/230V are connected in parallel and continuously glowing at 0.8 p.f. for

8hrs/day for one month. Calculate units consumed
(a) 25 (b) 35 (c) 45 (d) 60

28. T fhell Folr raer ofel & RTET & / One KiloCal is equivalent to how many Joules
(a) 4817 (b) 4718 (c) 4184 (d) 4172

29. 3ocT el Tfhe & BE alecal Voh IETECEACES %’ / Phase voltage Vo in a Delta connection

circuit is equivalent to
(@) V3Viie (b) 3Viine (c) Vine/V3 () Viine

30. STeeT H ﬁagF[ garg Hr e fro oRenRa fear e & / Current flow direction in

generator is defined by

(a) TrafFws €T / Kirchoff's law (b) SITT T T AITH / Left-hand rule
(c) ofsT FAEIa/ Lenz’s Law (d) &0 &1 &T fage / Right-hand rule

31. A HI AR dle ¥ AT e 7 g & Fhderr 39A9 @it & / Which of the

following protects a cable against mechanical injury
(a) IARET / Armouring (b) 2fr2r / Sheath

(c) 93f39r / Bedding (d) HIg =T8T / None

32. fAeATi@d ffved &7 3MAAR W STAATST & a1 Sar / The following system is not

generally used
(a) T BE il dR / 1-phase 3-wire (b) Uh %H TR dX / 1-phase 4-wire

(c) et &g T d” / 3-phase 3-wire (d) dlsT E TR dR / 3-phase 4-wire

33. ;'i?‘lﬁf?l?r CIEGR:D 31‘_13‘!31’ hgd a1 &I & / Transmission line insulators are made of
(a) TSlAT / Ebonite (b) =iy ALY/ Porcelain (c) &I&T / Iron (d) dr.dr&r. / pvc

34. IR 91T SLEY. HMT F / In a four-pole D.C. machine
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(a) TRT gd Iea¥ gq & / all the four poles are north poles

(b) TR Gl 3cal 3T gfaior § / alternate poles are north and south

(c) TRT ga gfaror gd & / all the four poles are south poles

(d) ar gf&yor E_ﬁl’ & 91 &l 3cadl i:'l:c{ & / two north poles follow two south poles

35. ST, SR H, IR F Sl oRuY H Rega vaw Fed Aewd § R swar ¥/
In D.C. generators, current to the external circuit from armature is given through

(a) am{&a / Commutator (b) 3 FaiareleT / solid connection
(c) e RaT / slip rings ' (d) IS FET / None

36. W—'{EET T 3 d W g ugret & 9 gl & / The material for commutator brushes is

generally
(a)F=dT 1T / Cast Iron (b) STeeT / Carbon (c) 313k / Mica (d) AT€IT / Copper

37. 1 81 UiaY fhas aeT & / 1Horse Power is equal to
(a) 746W (b) 856W (c) 723w (d) 1,000W

38. LAY HNIeT #ACY #, 3PN AR gd1E 50% Sd & ST, A AT F & fhd=TT 2891 /In D.C.

series motor, if armature current is reduced by 50%, the torque ofthe motor will become
(a) 100% (b) 10% (c) 75% (d) 25%

39. dIsT %H, 415V, 60Hz oI wex fescarrdl &1 eex 3mafed Far & / The ripple frequency of

3-phase, 415V, 60Hz full wave rectifier is
(a) 60Hz (b) 360Hz (c) 120Hz (d) 180Hz

40. T Q1 TRE & °ror U o5 TRas Sl s wfdfhed A @=r ¥/ A fully charged lead-acid

battery has a specific gravity of
(a) 1.25 (b) 1.15 (c) 1.35 (d) 1.45

41. T 6 [ dTell 50Hz $ZHAA HleX A 950 IRATH. F gAar &, a7 37 eld fheerm § /

What is the slip in a 6-pole, 50Hz induction motor, rotating at 950 rpm
(a) 10% (b) 15% (c) 5% (d) 2.5%

42. U 60Hz Jecioley ARG 900 HR.ULUA. & gH T &, O 30&F frasr g & / Find the

number of poles of a 60 Hz Alternator which is rotating at 900 rpm
(a) 8 (b) 10 (c)6 (d) 12

43. A B8 TR Geare & 58 guie 3R gt feeteex & fhae g R 81 & 7 How

many slip rings are there for a 3-phase star-connected alternator having a rotating armature

(a) 3 (b) 2 (c) 4 (d) 6
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44, 3AH ¥ fraR S uh.uH. TH. F FT H § / e.m.f. generated is in the form of A.C.
(a) Shdel r.EY. STelteX H / in D.C. generators only
(b) Fael TH. STeReX F / in A.C. generators only
(c) TEY. 3R Er&). SeeX gi|r & / both in A.C. and D.C. generators
(d) 39UFd #H A pig Y sTET / none of the above

45, 250V, 50W od T YTAIST &7 § / What is the resistance of a 250V, 50W bulb
(a) 1,2500 (b) 2,5000 (c) 7500 (d) 5,000Q

46. If¢ diaxthaer 0 &, aF 9RO & I 7 AT FaT ST HehdT & / If the power factor is 0, what
can be said about the circuit
(a) A& qfcRIedT / Purely resistive

(b) 3TfAR gfcRied, 3nfAs Segdeld / Partly resistive, partly inductive
(c) 31T gfaed, 3nfds FA@dT / Partly resistive, partly capacitive
(d) & Rufded / Purely reactive

47. 3T F FA @I TN W, ke & gesRdd RAFeeH W R YA gSaT ¥/ As the

frequency decreases, the inductive reactance of the circuit

(a) SGeTaT el / doesn’t change (b) §&dT & / increases
(c) TedT & / decreases (d) 98l dadr, Tt gedr § / first increases, then decreases

48, mﬁo—\cﬁﬁﬂpm HTUR 10cm, AR &FFel 20em’ §, dF 38T a5 sl & / The area of

a triangle with length of base 10cm is 20cm®. What is the height of the triangle
(a) 5cm (b) 10cm ) (c) 4cm (d) 20cm

49. TRdY dcd &1 g afe 25cm %‘, ar 3gET T hder 3’ / The perimeter of a certain circle is

25cm. What is its area.
(a) 625 cm? (b) 025/ cm? (c) 125 cm? (d) 625/(41r) cm’

50. Tfe g WATAIR sheeFedt o faege vwarg ek & fer # &, o 3% i &1 o FHar g /

When 2 parallel conductors carry current in the same direction, what is the force between them

(a) 3TTPY / attractive (b) S Sof 8T / no force
(c) gfdeRes / repulsive {d)‘CIE?vT m‘ﬁﬁ,ﬁh_{ gfdenes / initially attractive then
repulsive
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51. ARy AT AR 3 gl YaTg G & S, oY e I T FA I TS E / [Fthe

current flowing through motor windings is doubled, then the heat produced will become
(a) 3T/ half (b) GITaT [ double (c)TmX ?ﬁT/four times (d) Ten Eii“dlé [ one-fourth

52. Afq Rl Ui & dleest 10mv 3R g ware 100pA §, @ 36T Fed FT ¥/ If the

voltage across a resistor is 10mV and current through it is 100pA, what is the value of the resistance
(a) 1KQ (b) 1000 (c) 10KQ (d) 10MQ

53. 10nF % HURHET & 1IMHz 3gfcad W F9ffea RAseea a1 § / For a capacitance of 10nF,

what is the capacitive reactance at frequency of 1IMHz
(a) 1000 (b) 10Q (c) 50/ (d) 10/,

54. 3T T IYANT FAora: Thad WET ey & AT a1 SITar & / Earthing is mainly necessary
to give protection against

(a) 3ITAHR / Overload

(b) @IT¢ \fFHE / Short circuit

(c) sFeT Pl 3= dTIHTA / High temperature of conductor
(d) TSSTelT &T 3TeehT / Electric shock

55. T.HT. Yomely &hr ool & SIAY. YOIl &1 HIRIGT FAT § / The advantage of DC system over AC

system is

(a) RAFATE / Has reactance

(b) I$ cadT YHIT #&T / No skin effect

(c) US3r yarg &fa § / Has eddy current loss
(d) 39eFa @efY / All of the above

56. faaor @sa 7 gafea dr Far & / The top-most wire in a distribution line is
(a) ¥ggel / Neutral (b) T / Earth (c)%H / Phase (d)1g o / Any

57. facga St I o gl ok gl & fAv e diecsr arsAl H 3w Fat G o g
Electric energy is transported to long distances with high voltage lines in order to
(a) cTET THTT T T Flel & [oIT / reduce skin effect

(b) TS THHTT HH A & feIT / reduce line loss
(c) HAIOT &Y i FleT & folT / reduce transmission faults
(d) heTel SaeTeTel & gig & AT / increase cable life

58. fArfaf@a udies &r Ugdlel / Identify the following symbol
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(a) TFE-3R AT / XOR gate (b) FAIT 9T / NOR gate
(c) 3T A /| ORgate (d)s1=8 31€ / NAND gate

59. AT & ¥ @i @1 FAAFES Rl & 30T H oA & AU sEdAT A& A

ST T1f@T / Which of the following fire extinguisher should not be used for extinguishing electrical
fires

(a) g TR 9T38T / dry chemical powder (b) ®IF AR / foam type
(c) STel &J&T / Water mist (d) co,

60. doT T 39T g Aoft & Eﬁﬁ% & / Oil fires are classified as

61.

62.

63.

64.

65.

(a) FITT T / Class-A (b) FITH & / Class-B
(c) FITH &Y / Class-C (d) 1S o FTET / None

o5 tRs 3l & s IR @ A & A o a7 #1398 fRar Sar &/ what
instrument is used to measure specific gravity of lead acid batteries

(a) BTS3IHICY / Hydrometer (b) oleFeTHEY / Lactometer
(c) ¥ATHET / Thermometer (d) TFHIET /| Ammeter

Teh Egﬂ?-r gfar g7 #eTdr Vel & FAT g & / lllumination of one lumen/meter? is
(a) &hsel / Candle : (b) 1FF / Lux
(c) BT ot / Foot Candle (d)J&T / Weber

G S & AT & AU sEIATS AT TS WA FAT § / Material used for construction

of transformer core is

(a) offA=CS o8l / Laminated Wood (b)mﬁﬁﬁﬁ T / Laminated Silicon Steel
(c) df@scs diaT / Laminated Copper (d)ﬁ@?{t’gﬂﬂﬁﬁm / Laminated Aluminum

TF TABHET A asAd 3T Qasdl aEfEe & @i 3neet gfcRkitr #3971 § / Resistance between

primary and secondary winding of a transformer is ideally

(a) 10000 (b) 100 Q (c)10Q (d) e / Infinite

;'m"FFJfIT Eﬂ'é’%ﬂ F D AT FT A1 ST § / Transformer winding cores are laminated to
(a) USEr waTE &7fd F FFH FA & fIU / Reduce Eddy current loss

(b) TSEr yarg 8Tfa T &erel & TolT/ Increase Eddy Current loss

(c) T &7 P HHA el & foIT / To reduce Copper loss

(d) darear &fd & §e1d & fIT / Toincrease Copper loss
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66

67.

68.

69.

70.

72

73

LAl Al J@ WA § S CweR & oufAe 3N Aaf@e ger & R far ¥/
Parameter which is constant in both primary and secondary of a transformer is

(a) dlecsT/ Voltage (b) 3TTgTeeT / Frequency
(c) 9darg / Current (d) T 4TI / All Parameters

Ueh CIMER & ‘A dis” T Fa1 f@efRa #¥ar & / No load test of a transformer is carried

out to determine

(a) dlecsT 81T /Voltage drop (b) et &1 / Iron losses
(c) arFaT & / Copper Losses (d) 9darg / Current

Teh E'E'RT #H, diecal 3???_ Udig & 8 B 3aY &4r & /Inan inductor, what is the phase

difference between voltage and current
(a) 90° (b) 180° (c) 45° (d) 0°

IR FRE Argel @R w1 Uk T i dleear 10V E, O 3HE HR.UATH. dlecd FT & /
If the peak-to-peak voltage of a sine wave is 10V, what is the r.m.s. voltage

(a) 10/V2V (b)5V (c)5v2V (d)5/V2V

IR Teh gifereel mhpelooéaﬁtmmlﬂmﬁ,a’rmmicwg/
I hee of a transistor is 100 and base current lg is 1mA, what is the value of

collector current .

(a) 0.1 A ~ (b) 0.01 A (c) 0.001 A d) 1A

. Tagga oo & Sieer g X faega st & fohg @7 @21 g@ar &/ in an electric

circuit algebraic sum of currents meeting at a junction point is

(a) HAeddT / Infinity (b) IATE T 3TN / Exactly half the current

(c) Y=/ zero ' (d)TF /1 '

. T dis Aer & A fr a7 g S ¥ I / In Shunt wound motors, speed of the motor
decreases with

(a) HX & &7 / Decrease in Load (b) AR q@' / Increase in Load

(c) hH FiﬁT 8IdT / Does not decrease ‘ (d)m afad / Runs with synchronous speed

: N:ﬂ'é' & IR H SEAHATH HAlet 7T YehT ar g/ Type of Motor used in Kitchen appliances

(a) SI.EY. SeeX / DC Generator (b) T.HY. ST+eT / AC Generator

(c) Sr.EY. AT/ DC Motor (d) i AT/ Universal Motor
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74. BEE 1 & / What is BEE
(a) E{{T 3% gelfdeehel Taloil / Bureau of Electrical Energy
(b) afAfRe 3T Solfagehol Uil / Benefit of Electrical Energy
(c) E‘ﬂ;{’f 3T Toroil UTOmefa=dr / Bureau of Energy Efficiency
(d) E&S’T 3T sl TSI / Bureau of Electrical Engineering

75. TeR-SecT TereT & Q_ﬁfﬂﬂ?ﬁ' &IRT T &7 8rdl & / Starting current in Star-Delta starter
(a) /3 I A B ST & / Reduced by V3 times
(b)BB;I?IT ¢ 1T &/ Increased by 3 times
(c) 39T & 1 ST & / Reduced by 3 times
(d)V3 el s STl %’ / Increased by /3 times

76. ;THTFDflT g TAEid Ut e AT § / Transformer works on which principle

(a) T SFAA / Self Induction (b) FIHel g8 / Mutual Induction
(c) FgI3el faer / Mutual resistance (d) FZ‘@WEJIQFII / Mutual Capacitance

77. CEGER & dieee, g owr AN gATT @ Hear & € A WO &/ Relation between

Voltage, Current & No. of winding turns in a transformer is
(@) Vi/Vy=Ny/Ny= PYAP ) (b) V2/V1 = Np/Ny= 15/l
(€) Va/Vi =Ni/Ny= L/l (d) Va/Vi = Np/N;= 11/15

78. Q@ =T 1 FaEAr F A5 s SR F FERIeAS IR ARRICHD Sl A1 Bl © / I

fully charged state, the Positive and Negative plates of “Lead Acid Batteries” are
(a) +ve PbO, & -vePb (b) +ve Pb & -ve PbO,
(c) +ve KO, & -vePb (d) +ve Pb & -ve KO,

79. TIABERN & kVA &THAT &l ERCEL & / What is the equation for kVA capacity for a 3-phase

transformer

@ v OV g @VEXVI (d)VZ X VI

80. TsHel TWUT Al & $H AHGHT H UTd e & AT FURA & HF AT ST & /
In Single phase motors, split-phase is achieved by connecting a Capacitor
(a) TeeX RCIC & AT H / In parallel with stator winding
(b)Q_EHI'cﬁ' gATT & QQI:@IFIT # / Inseries with start winding
(c) Tfar HATT & AT F / In parallel with run winding

(d)SsTH & IS 18T / None of the above
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